2 WASre:

Online

Parts Catalog - Option Detail

Option Group Graphic Film Card Date
WR§§71' 05.06.1 wr955gq z 07-JUN-07

6C8.3, C GAS PLUS CM556, G8.3, G8.3 CM558, GTA8.3 CM558, ISC CM2150, ISC CM554, ISC CM850, 1ISC8.3
CM2250, ISC8.3 G CM2180 C101, ISL CM2150, ISL CM554, ISL CM850, ISL G CM2180, ISL8.9 CM2150 L110, ISL8.9
CM2880 L112, ISL9 CM2150 SN, ISL9 CM2250, ISL9 CM2350 L101, ISL9 CM2350 L111, ISLE4 CM850, L GAS PLUS
CM556, L8.9, L8.9 L121, L8.9G CMOH2.0 L125B, L9 CM2350 L116B, L9 CM2350 L119B, L9 CM2350 L120C, L9
CM2350 L123B, L9.3 L105, L9.5 L117, LON CM2380 L124B, QSC8.3 CM2250, QSC8.3 CM2880 C102, QSC8.3
CM554, QSC8.3 CM850(CM2850), QSL9 CM2250, QSL9 CM2250 L115, QSL9 CM2350 L102, QSL9 CM2350

L107, QSL9 CM2350 L118, QSL9 CM2350 L122, QSL9 CM554, QSL9 CM850(CM2850), QSL9 G CM558, QSL9 M
CM2250 L106, QSL9.3 CM2880 L113

Engines

R

wras5gq
SMALL | MEDIUM | LARGE
View My Cart
WR9271- Engine Control Module Wiring MR - ENGINE CNT MODULE
05 Harness WIRING...(More)



https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('wr955gq','/rtgraphics/english/parts/wr/9/wr955gq_sm.png');
javascript:swap_img('wr955gq','/rtgraphics/english/parts/wr/9/wr955gq_md.png');
javascript:swap_img('wr955gq','/rtgraphics/english/parts/wr/9/wr955gq_lg.png');

HARNESS

Engine Family: C & L Series

Engine Cylinders: 6

Engine Design Phase: Pegasus

Alpha

OEM Connection:

X:225.3

Y: 233.4

Z:-81.8

OEM Connector Type: 50 Pin

ECM location: Fuel Pump Side

- Front

J1939 Connector Location:

X:136.7

Y: 233.4

Z:-81.8

Real Time Clock Battery:

Yes/In Harness

Voltage: 12 or 24

ECM Type: CM850

Speed Sensor Location: Crank

3089384 Hexagon Flange Head Cap Screw M10 X 1.50 X 14.
3093956 Hexagon Flange Head Cap Screw M8 X 1.25 X 12.
3900589 Hexagon Flange Nut M8 X 1.25
3901865 Hexagon Flange Head Cap Screw M6 X 1.00 X 20.
3906216 Hexagon Flange Nut M6 X 1.00.
3913638 Hexagon Flange Head Cap Screw M6 X 1.00 X 16.
3919294 Tube Brace

3925381 Hexagon Flange Head Cap Screw M5 X 0.80 X 12.




9 3925883 Hexagon Flange Head Cap Screw M8 X 1.25 X 16
10 3963736 Wire Retaining Clip
11 3965408 Electronic Control Module Wiring
Harness
12 3968886 Wiring Harness
3931824 O-Ring Seal



https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

